ZIRMERNER TV
FRZEER / S0 / BRI

Multiple Connection Options
Hollow Shaft / Double Shaft / Single Shaft
- FBEERE: =6 9D - 0 Stage-Minimal backlash: : = 6 arc-min

- BRELE : 1-100 - Ratio: 1-100
- TER B FIFERE 98% - 0 Stage-High efficiency: 98%

49



50

Bum B RS E

Patented Structure Design

ZRE PR AL B ] [FAF9%%ER The structure of helical bevel gear

AR B EAIHRER

RPN
AN TRERE (RESERAI RO E B A T8
WEEE - AEFEHRGEME - KiE
[RERBEEBEE > XEBERERS
BrimE ik o

BETE 2 eR B
RASESEH  RE2RHREE &
M= S B4 1% -

aepal

fEARIHG M - KRB ARG (R
R NEH BRI - REAEER
R - BfRsPhisahavInge -

can adjust bearing and bevel gear's
backlash at the same time.

Output Gearbox

Specific processing for the gearbox to ensure the
alignment of rotating shaft and perpendicularity of
input shaft.

Using Aluminum alloy for the gearbox to slash the
weight and sandblasting on surface to improve the
antioxidant capacity.

Helical Bevel Gear

With Cr-Mo alloy steel and carburizing heat treatment
for high abrasion resistance and impact toughness.

Output Shaft

Cr-Mo alloy steel shaft with one-piece design and
structural rigidity to ensure large torque output.
Surface coated with electroless nickel plating for high
resistance to corrosion.



@0

>&g (¢

0

=

uzd

o &

EARRE S SME ISR MREER
o MEMSRNSEE - EmiE
125232 - REIRFHEAIRIEE KPR (AR

e

A —RER B AT RE R IR N B
Z FEERITE

ERRBIES W - WELS IR
J’EIE T B4 = K2 i = 1B - B

FBIZRRIE - RERR T ERAEE R K
RS > NILERmENREE > BS
MEEER S 58 E o

ARG SR —iER AR
REEsRaLEEX iﬁﬁlﬁiﬁ
RERILSZE - BRESHANR -

RAEAEILERET © BERREC B -
EREEL D RELEBRIE -

RARMEILEET  BEENAERS
EARE - RERAIEDBARME
2 REEHR -

Nickel chromium molybdenum
alloy steel gear is manufactured
with carburizing heat treatment for
high abrasion resistance and impact
toughness and by honing process to
increase gear precision and low noise
operation

One-piece construction to ensure
large torque output and structural
rigidity.

Nickel chromium molybdenum
alloy steel gear is manufactured
with carburizing heat treatment for
high abrasion resistance and impact
toughness and by honing process to
increase gear precision and low noise
operation. Internal gear bore uses
needle roller to obtain higher abrasion
resistance and strength.

With Cr-Mo alloy steel and one-
piece construction for internal gear
to deliver high precision and large
output torque. Gearbox surface is
coated with nickel electroplating for
high resistance to corrosion.

Modularized design can be used for
various dimensions of servo motors.
Shaft surface is coated with black
oxide finishing.

Modularized design can be used for
various dimensions of servo motors.
Sandblasting and Anodizing painting
on surface to improve the anti-
corrosion capacity.

51



AR
MFT SERIES ORDERING CODE

MFT60 - SO - L1- 10 - K - Motor

Model Output Shaft Type: Motor

MFT60 S0: Fz24f Hollow Shaft Rl « R
MFT90 S1: FiEHI% Single Shaft Motor Brand & Model
MFT120 S2: #2778 Double Shaft

ER &
Stage
LO: (Ratio 1)
L1: (Ratio 3-10)

L2: (Ratio 15-100) sk
Output shaft

T
SR With Key
Ratio . JEh
SREBESE 54 E O RELARE - - Without Key

Please refer to page 54 " Ratio Composition Table".

52



B Bl 2 REF1E R 7

& AXIAL LOADS ON OUTPUT SHAFT OF THE GEARBOX

&rh
WEHEMAN : EERBONNE Had
NEFEE S - FATREOR P8 1
] N B B 0 ) LB R A 1 B % e 7 B O SR AR B o O
ERER  AHFEANRBEE o Aiﬂﬁcﬁd o-=-

EHMBREE - RAFNERDEEEE -

* Permitted Radial Load :The force exerts perpendicular to output shaft

* Permitted Axil Load :The force exerts parallel to output shaft .
The radial & axial loads are related to the speed and application point on output shaft. i
The radial & axial loads are decreased when the output shaft runs faster.

The radial & axial loads are decreased when the application points away from root segment of shaft.

Emafk
Radial Load Chart (MFT)
7000
6000
2 0 L\
- & 5000
[]
7&] §£ \ — MFT60
gag = 6 4000
B 36 \ = MFT90
Z = 3000
mEa \ \ —— MFT120
A EB 2000 N e
N &8 S~
c 1000
[e]
0 1 1 1 1 1 1
0 300 600 900 1200 1500 1800 2100
B4 FE52R (rpm)
Output Speed (rpm)
BEAREER
Load Factor Chart (MFT)
1.4
1.2
)
s 1.0
LI- —
B s MFT60
o
v -
= 04 —
2 — MFT120
a 0.2
O-O 1 1 1 1 1 1 1 1 1 1

0 20 40 60 80 100 120 140 160 180 200
Fe N REELHE NN SAREDAIZERE (mm)

Position X (mm)

53



AERLLER . BEEER

RATIO SELECTION TABLE & MOMENT OF INER

MFT3R 51 EE 2048 Bk
MFT Series Ratio Composition Table

R R B TR E KR R B
Ratio Table of Each Stage
AR BRI 5E ZERTURERLL —ERsURERLE ZEREURERLE
Model Stage (LO) Stage (L1) Stage (L2)
15°20°25°30°35°40° 50"
MFT60 1 3455710 70 100
15°20°25°30°35°40° 50"
MFT90 1 3457110 70+ 100
VET120 1 4 45710 1522025303540 50 -

70 > 100

MFTRFIREEEEEN BB R

MFT Series Moment of inertial Table

ix:fe ﬁ&ff: MFT60 MFT90 MFT120
LO 1 0.274 2.14 6.05
3 0.14 1.25 3.28
4 0.11 1.14 2.89
5 0.10 1.11 2.81
6 . _ .
L1
7 0.10 1.10 2.76
8 . _ .
AEEE ’ . . .
Moment of inertial J1 (kg*cm?2) 10 0.10 1.10 2.74
15 1.11 2.81
20 1.11 2.81
25 1.11 2.81
30 1.10 2.74
L2 35 0.10 1.10 2.76
40 1.10 2.74
50 1.10 2.74
70 1.10 2.74
100 1.10 2.74

54



TECHNICAL SPECIFICATIONS TABLE

FedigFrg IR

MFTRFIH TR TR
Technical Specifications

M Bfi B et
Specification Unit Stage Ratio
Nm LO 1
F T,
iﬁmﬁfﬂoﬂ?;ﬁt Nm L1 3~10
ormal Output Torque N L2 15-100
==
BIFHRE Nm LO’L1-L2 1~100
Emergency Stop Torque
TG e
BEBABE 1, | om L0 L5 L2 1-100
Normal Input Speed
= t§
RABABE n,| pm L0 L1 L2 1-100
Max. Input Speed
: n LO 1
& AL e
i;:_%dﬁ EE{B Klash arcmin L1 3~10
andard Backlas Lo 15-100
BHERS N Lo :
Max. Radial Load N L1L2 3~100
) N Lo 1
Max. Axial Load N L1 L2 3~100
FRES ) Y L0 L1>-L2 1~100
Warranty period
LO 1
EEHFER o L1 3~10
Efficiency of Full Load )
L2 15~100
FRZEEh SO
S0 (Hollow)
Lo BB s
S1 (Single-side shaft)
€#88h S2
S2 (Both-side shaft)
FRZeEl SO
S0 (Hollow)
- . Higu S1
AR Net Weight kg H S1 (Single-side shaft)
€88 S2
S2 (Both-side shaft)
FRZEEH SO
S0 (Hollow)
P EiEEh s1
S1 (Single-side shaft)
#5588 S2
S2 (Both-side shaft)
{EFRE Operating Temp ‘C LO:L1-L2 1-100
;8  Labrication LO- L1 L2 1~100
L85 A Mounting Position Lo L1 L2 1-100
BHEESEAR Degree of Protrction LO L1 L2 1~100
M2 {E Running Noise dBA LO 1
(E83% =1500 rpm) dBA L1-L2 3~100

1. B BOREIS (CRIEELE BRI » TEAEARIELSESLEBEEATAIG 2 2k,

JBERLE ¢ i = BB R
BRE  AE2%EEHHRE MRS R

o ohwN

BARERAREREAA © HEARHAEMPOCE - AR EERE50%
EHEEEAR<G0% NN T - TIEREMIFREEE AR Z60%ZEEEENRT » FTHERESHUESBREZESENS0%UT.
IREE : BEEAR > ZEES  BEMAER GO TATASEIR.

1.Above relative specifications of each model most are measured on 5 : 1 gear ratio

2.Rations : | = Nin / Nout

3.Backlash : Measured on 2% of nominal output torque
4 Max. Radial and Axial Load : Applied to the output shaft center, and 50% of duty time and at 100 rpm
5.Duty Cycle < 60%, Average Lifetime = List Value; Duty Cycle = 60%, Average Lifetime < 50% List value

6.Noise Level : Numeric measured on idle running in 1m distance, and at nominal input speed

MFT60 MFT90 MFT120

15 58 114

1.5 {EERE I %R

1.5 Times of Nominal Output Torque

3000 3000 3000
6 000 6 000 6’ 000
=6 =6 =6
=8 =8 =38
=0 =10 =10
810 1220 2080
1108 1’688 2900
381 610 1040
584 844 1 450
14/ 1year
= 98%
= 95%
= 92%

1.85 4.29 9.05
1.98 4.65 9.66
2 4,71 9.77
2.05 6.47 13.8
2.18 6.83 14.41
2.2 6.89 14.52
2.35 7.6 16.4
2.48 7.95 17.01
2.5 8.01 1712
-10°C ~+90°C

BEES T NERME

Lithium Complex Synthetic Lubrication

EEHM
All Directions
IP65
=73 =76 =79
=65 =65 =65

EIR100rpm B MRS Z iR,



R~TE

DRAWING & DEMENSION

R~F Size

LO
L1
L2

* ¥

product..

56

@D1
D2
D3
@D4
D5
@D6
D7
D8
D9
D10
D11
D12
D13
D15
H1
H2
ZEY (stage 0)
—E% (stage 1)
ZE% (stage 2)
aci
ac2
ac3
Cc4
C5
Cé
C7
Cc8
@c9
Cc10

#D]

H1

MFT60-S0
13
30
30
20
62
76

M4x0.7P
2
13
70
62
25
25
48
5
15.3
101.5
130
146
6~14
50
70
M5x0.8P(MAX)
33
13
7
4
80
60

MFT90-S0
18
30
50
28
88
110

M6x1.0P
2
15
100
92
40
88
65
6
20.8
141
185.5
213
14~19
70
90
M6x1.0P(MAX)
39
15
7
g
120
92

[1D11 D15 D15
1. 407 P.C.D_#D6 D8 D9, D12 D12 P9l D8
ﬁ( 4-D7 |
D2| @ | ~9Ts
e
r JEOE T N |
Y S S R },,,,‘r, __ ] O —
0| < L | | by
o O -+ —-— —-— [m]
< s[ I S 1
S i | e B
L =~ 3
TR
° S © 3
| | |
br—t-r
=
5 1 H I HTT
i
oL da NA
#C1(HB) |
$C2(H7) ©
4-C4 P.C.D _#C3

(AL * mm)
(Unit - mm)
MFT 120-S0

22

35

5B

35

108
145

M8x1.25P

2

15

126
120

50

42

78

6

24.8
198
254
287.2
16~24
110
145

M8x1.25P(MAX)

65
28.5

20

T

161
120

it :C1-C6 MIFERRART @ BAFRERESERRT - RIMKEERNEEME - MiBH R BIESARAR AR RS

Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize



D16
[1D11 D14 D15 D15
4—-D7 P.C.D #D6 D8 D9 D12 D12 D9 D8
4-D7 : |
9 I 2 "
B aE Rt F-—-F-1-—1 & -
o| <+ ! ! |
L= s
- e e e )
SOTTTT T 5eS O -
oI Vo 2
0 i - =
| |
7' T %
- RN -
8 a gl
I L_d 71?: = 81
8C1(H6)
#C2(H7) ©
4-C4 P.C.D ¢C3
?D1 (h6)
m H3 _ H4 %\'
&
= (
=
il Iog|
(BE{SZ * mm)
(Unit * mm)
R~F Size MFT60 -S1 MFT90-S1 MFT120-S1
@D1 13 18 22
D2 M4x0.7P M5x0.8P M8x1.25P
D3 12 14.5 22
@D4 20 28 35
@D5 62 88 108
@D6 76 110 145
D7 M4x0.7P M6x1.0P M8x1.25P
D8 2 2 2
D9 13 15 15
D10 70 100 126
D11 62 92 120
D12 25 40 50
D13 25 33 42
D14 22 37 42
D15 48 65 78
D16 70 102 120
H1 5 6 6
H2 15 20.5 245
H3 2 35 5
H4 16 25 25
L0 ZE% (stage 0) 101.5 141 198
L1 —E% (stage 1) 130 185.5 254
L2 ZE% (stage 2) 146 213 287.2
@c1 6~14 14~19 16~24
@c2 50 70 110
@C3 70 90 145
c4 M5x0.8P(MAX) M6x1.0P(MAX) M8x1.25P(MAX)
C5 33 39 65
C6 13 15 28.5
c7 7 7 20
c8 4 5 7
@C9 80 120 161
c10 60 92 120

R~TEl

DRAWING & DEMENSION

* 31 C1-Co BIFERRARST @ BAHRERSERRRYT - RIMKERNSEME - EBH R BESTAARAREHE A RS

* Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize

product.

57



R~TE

DRAWING & DEMENSION

D16 D16
[1D11 D14 D15 D15 D14
4—-D7 P.C.D #D6 D8 D9, D12 D12 D9 D8
4-D7 —‘ |
~o Y -
7Y "
e IR \ffffkfffﬁf - g -
== R N ==
ek T man P
S S O -
e &L‘\”””!’J\}ﬁe §
—
— [ [ —
98 gige ;
,,,,,, e o
$C1(H6) -
8C2(H7) ©
4—C4 P.C.D #C3
#D1(h6) X\
m _ H3 H4 ‘ ﬁ\@ v
&} |
On = /
‘ O g
ST
D10 ] (BE{SZ : mm)
(Unit * mm)
R~F Size MFT60-S2 MFT90-S2 MFT 120-S2
@D1 13 18 22
D2 M4x0.7P M5x0.8P M8x1.25P
D3 12 14.5 22
@D4 20 28 35
@D5 62 88 108
@D6 76 110 145
D7 M4x0.7P M6x1.0P M8x1.25P
D8 2 2 2
D9 13 15 15
D10 70 100 126
D11 62 92 120
D12 25 40 50
D13 25 33 42
D14 22 37 42
D15 48 65 78
D16 70 102 120
H1 5 6 6
H2 15 20.5 24.5
H3 2 3.5 5
H4 16 25 25
L0 EE% (stage 0) 101.5 141 198
L1 —E% (stage 1) 130 185.5 254
L2 ZE% (stage 2) 146 213 287.2
@c1 6~14 14~19 16~24
@c2 50 70 110
@C3 70 90 145
c4 M5x0.8P(MAX) M6x1.0P(MAX) M8x1.25P(MAX)
C5 33 39 65
C6 13 15 28.5
c7 7 7 20
c8 4 5 7
@C9 80 120 161
c10 60 92 120

* ¥

product.

58

it C1-C6 BIFERRART @ BATRERESERRT - RIMKEERNEEME - EBH R BESTAARAR AR RS

Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize



VIGOR GEAR MACHINERY CO, Ltd

BETERHERAT

24872 Frdvh A [ AR B B — B 185 12572557

Address: No.25, Alley. 12, Lane. 1, Sec. 1, Zhongxing Rd., Wugu
Dist., New Taipei City 24872, Taiwan (R.O.C.)

TEL: +886-2-8982-0709

FAX: +886-2- 8988-2565

Email: vgem@vgmgear.com

Website: http//: www.vgmgear.com/

FT7hR 2018588
Version 7 AUG. 2018




